BRXO01 Universal Body Mount Set (#BRLC7070)

Installation Manual Front Installation

i | Post #BRT10041 Apply the single-sided tape to the
Universal Body Post #BRT100 Post Bridge as a gap filler if the
body wobbles after installation.

M3x12 SS/

M3x12 SS

Extra Mounting Position

M3x8 RS Q
M3x1255

 Maxzss

Shock Tower at &

Front Body Post Mount : Back Position M3x12 55
#BRLC7067 Shock Tower at

Front Position @ ‘@ M3x10 RS
&

M3x8 RS M3x8 CSS
> 2

o/]]

Install the front shock tower at the back position to Side View
allow the Front Body Post Mounts to be installed at

\3 Side View the front position.
Rear Body Post Mount M3x12 S
2

#BRLC7068

Rear Installation

Parts Included:

(1) Front Left Body Post Mount
(2) Front Right Body Post Mount
(3) Rear Left Body Post Mount
(4) Rear Right Body Post Mount
(5) 115mm Post

9

J
S

=D %

6) 60mm Post &/, M3x12SSx 4

7) Rear Bridge -
Body Clip with Handle (6) #BRT10040

%
%%? %%E%% %/BXS’RS
%% w M3x12'5S

. @
L B @
Rear Quick Release Body Mount e / c /

#BRLC7071 ‘
(Not Included) M3x12SS Y

D
Parts Not Included: \ | I @\\ f M3x12SSx 2
i m @
(17) Rear Quick Release Body Mount 1 @ %, _

)
)
)
)
)
)
)
)

(

(

(8) Front Bridge

(9) Cross Bridge

(10) M3x12 Set Screw
(11) M3x8 Round Cap Screw
(

(

(

(

(

12) M3x10 Round Cap Screw
13) M3x8 Counter Sunk Screw
14) Foam Tape

15) Post Clip

16) Clip Handle

OIS NNON = = = NN = oo

Side View %,
M3x8 RS Side View
You may choose to install the Rear Body Post Mounts between the chassis rails and place
the Rear Bridge on top to get the lowest mount point.

There are three positions available as indicated by the red dots. Rear Body Post Mounts installed on the outer side of the rails.

WWW.BOOMRACINGRC.COM

BRXO01 Universal Body Mount Set (#BRLC7070)

Rear Quick Release Body Mount (#BRLC7071) - Not Included Apply the single-sided tape to the BRX01 Universal Body Mount Set
P Brid filler if th.
body wobples after mstalation. #BRLC7070

o

M3x12 SS

'

M3x12 SS

To use the rear hinge system with the Universal Body Mount Set, use this optional Rear Quick You may choose to install the Rear Bridge directly on the Rear Quick Release Body Mount.
Release Body Mount (#BRLC7071).

M3x12 SS

A
N Dimensions For Reference

97mm

M3x12SS 79mm

M3x12 S5 x 4 We love building scale models. Let's be honest. Which

badass doesn't love a beautiful looking carg Our focus is

on designing the best looking products that really perform;

products that withstand beating and still look great

enough to be shelf queens. Offering you the latest designs

61Tmm made with the highest possible quality at affordable prices
Rear Bridge is our absolute focus for all enthusiastic hobbyists.

Since 2012, Boom Racing has been manufacturing
extreme performance RC products. We want you to love
and enjoy these amazing "scale" and “performance"

< based products to create your own unique realistic RC
M3x12SS N builds.

M3x8 RS @ <,

@ .
0

We are never going fo stop at giving you the best updates
and upgrades on our product lines. That's our passion and
our commitment to keep you on your toes with excitement
and anticipation for what's to come next.

Cross Bridge EN-’Q‘{ BE!N& A BADA$$

Side View

The Rear Body Post Mounts can be installed on different positions on both sides of the
optional Rear Quick Release Body Mount. i p ,
51.5mm 22mm #boomracing d=H www.facebook.com/

Front Bridge Rear Body Post Mount boomracingrc

WWW.BOOMRACINGRC.COM

Copyright © Boom Racing Co. Ltd




